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1. Classify the following alkenes as electron rich or electron poor, relative to ethene .
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; 2. Draw the products from these Diels-Alder reactions:
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; 3. Draw the structure of the diene and dienophile used to make this cycloadduct:
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4. Draw the Diels-Alder cycloadduct and indicate stereochemistry in your structure.
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5. Draw both product isomers and indicate which is the endo and which is the exo cycloadduct.
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6. Indicate which is the endo and which is the exo cycloadduct.
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6. Explain why this Diels-Alder reaction will not work:
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7. Draw the intramolecular DA cycloadduct. You may benefit from using a model for these
cyclizations.
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8. Predict which é)somers will form using these unsymmetrical reagents:
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